1.6

1) |m|=-6
false
No Solution®

3) |n|=4
n=4 -4

5) bl =7
b=7-7

7 (DB =5(7)

|x| = 35
x = 35,-35

9) —10+ |k| = —15
+10 + 10
|k| = =5
false
No Solution®

11) 10|x| + 7 =57
-7 —7

10]|x| _ 50

10 10
|x| =5

x=5-5

13) 10 — 5|m| = 70

—10 —10
_sml _ 60
-5 -5
|m| = —12
false

No Solution®

15) 9|x| —4 =5

+4 +4
9lx| _ 9
9 T 9
lx| =1

x=1-1

17) |1 -1
10
(10)1"—0 = 1(10), —1(10)
n =10,—10

19) [v+ 10| =2
v+10=2, -2
—10 —10 —10
v=-8,-12

21) —4 — |a — 5| = —13

+4 +4
—la-s| _ =9
-1 -1
la—5]=9
a—-5=9, -9
+5 +5 +5
a=14,—-4
23) 10/-6x| _ 60
10 10
|—6x] =6
_&x_6 _ 6
-6 -6 -6
x=-1,1
25 Tl _2
7 -7
|E _2
71 77
n 2 2
Mz =2,
n=2-2

27) —=8|—-7 +p| — 6 = —14

+6 +6
-8|-7+p| _ -8
-8 -8
-7 +pl=1

—7+p=1, -1
+7 47 +7

p=28,6



29) =3|7+x|-7=-1

+7 +7
-3|7+x| _ 6

-3 -3
|7 + x| = —
false

No Solution®

31) [-7 —5r| =32

—7—-5r=32 , =32
+7 +7 +7
_5r _39 25
-5 -5 ' -5
r=-25

5 )

33) [8n— 6] =66
8n—-6=66 , —66
+6 +6 +6

8n 72 60
8 8 ' 8

15
n=9 ——

2

35) [2v+ 7| =11
2v+7=11, —-11

9|10+6x| 72

37) 5
|10+6x|=8
10+6x=8, —8
—10 —10 —10

ox __2 _18
6 6’ 6
x=—l,—3

39) -3+ |6 + 6k| =—
+3 +3
|6 + 6k| = —
false
No Solution®

41) 2n+5|+5=0
-5 -5
|2n + 5| = —

false No Solution®

43) 3-2|5—m|=9

-3 -3
-2|5-m| _ 6
T2 -2

|5 —m| = -

false No Solution®

45) |-10x — 4| — 10 = 66

+10 +10

|-10x — 4] = 76
—-10x—4=76 , —176
+4 +4 +4
—lox _ 80 72
-10 -10 ’ -10

x=-82%

5

47) |2 + 3x| = |4 — 2x|

243x=4-2x , 243x=-(4-2x)
+2x + 2x 24+3x=—-4+4+2x
2+5x=4 —2x —2x
-2 -2 2+x=—-4
Z_2 —2 —2
5 5
x=2 x=—6
5
x=z,—6
5
2x-5 3x+4
19) [ = 7
(6) 2x— 5 3x+4 (6) —5=—(392c+4»)
4x—10—9x+12 (6) 2 =232 (g)
—4x —4x 4x — 10 = —9x —12
—-10=5x+12 +9x + 9x
—12 —12 13x—10=-12
-22 5%
T:? +10 4+ 10
22 13x 2
—_—— =X _—
5 13 13
2
X =—-—
13
22 2






